A5 ¥HE7] (SAS HlolE set WHE7]):

data one;
input id name$ age income @Q@; /+ Wy AR ¢7] %/
cards;

Park 27 280 Kim 24 300 Lee 22 . Kim 25 260 Cho 23 190
run;
proc print data=one;

run;,

Abe dAbak

data two;

input x @@;

y=x+100:;/* y HFE W&o 73S x+1000.%+/
z=x*:2)/x z MFE WEo] I3e xAlw SEx/
cards;

27 31 25 22

run,

proc print data=two;

run,

H] W A4k}
data three;

set one;

if income <200 then grp='small’; /*%2F income<200 ©]¥, grpdlE WHEE wESo] 1

s 'small'2. #/

else grp='big'; /* o}y ™ (income=200), grpdtE WFE wEo] 23S 'big' S Zx/
run;

proc print data=three;

run;

P
proc means data=one maxdec=1; /B, LFHols} b/
var age income; /#u}o], F£U Hfx/

run;

71E€%AZ:

[+ A5 5EAS FAAOE qdst oy JHA] FAZH 9D a9 «/
proc univariate data=one;

var age income; /*4o], ] thst FAFx/

run;

ETEEE BHE7I( ], T G oA R)
data BLD;

input bld$ @@;

cards;

ABOABOBOABO

run;



proc freq data=BLD;

tables bld;

run;

data BLDI1 ;

input bld$ count @@;
cards;

A 12 B 14 O 20 AB 3
run,

ods graphics on;

proc freq data=BLDI1,;
tables bld/plots=fregplot;
weight count;

run;

ods graphics off;

Histogram %=7] (143 #28):
data four;
input score @@;
cards;
76 49 83 79 98 63 69 85 50 60
86 67 57 64 75 88 79 81 70 73
run,
e RO BAL FAHoR BAR oY X BAL R 1Y #/
proc univariate data=four;

run,

/*histograms/
proc univariate data=four;
histogram score/ endpoints=40 to 100 by 10; /=& Azt ozt 28]/

run;

AP % (scatter diagram) (A1 Ak5):

data carsR;

infile ‘d:/carsR.txt’ firstobs=1;

input y x; /x y=Al§72] (ft) x=%%(mph,) */
run,

proc gplot data=carsR;

plot x*y;

run,



